12082CHO8

(Application of Integrals)

** One should study Mathematics because it is only through Mathematics that

nature can be conceived in harmonious form. — BIRKHOFF

8.1 9{['\'-'!75[ (Introduction)
sfafa ®, g s omadl, suete wqdst ud gt
gfea fafa= snfadta enepfaat & &awa & e
o fau goIl @1 s1eaeH fman B arafae Ssfoq &1 e
st o fau ford o SAI9ENT § 39 YhR oF gF qd
g g1 IRfas Sfafd o g #1 9emd 9 ' o
TN ATRiaal o &F%ed &1 TRead HX Fehd 2
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sruaie € g8eh folt s GHIhe T shi o Gehouistl
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frsa 1A o g9 AThe i °E o &9 ° HivEa
TRl H1 I &d FHI g% y = f (x), Hifeat
xX=a,x=bTd -3 ¥ R &49%a 1 I HEH I

A.L. Cauchy
(1789-1857)

e T 21 39 1A § €W WHRU el o Sfaiid, Wit W@nstl U g, weer,
TNl regl (Shdd e €9) i =190 oh oe o &% i A1d i oh foT THRl
% TH fafdre STquam 1 s1eaa F| W gkl ° R &F%d o o [

8.2 HIEMTUT Tehl ok 3Taiia é‘:ﬂ?ﬂ (Area Under Simple Curves)

s e § B9, AMTHA &1 W o €9 H FREd SHehed T8 wod i STERYd
T T SYANT Y gY T aHeher 1 ufisher Shd fepen U, Wi stema femen
21 379 BH TGH y = f(x), x-3& T HIEA x=a a0 x=b ¥ BR &%t A1 I HH
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FT TEE TS FaaE ° W fafy wt w=t wa X

2 8.1 ¥ TH Tk oh JHaTid eIhel i y=f
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faffq om g ®1 ySEE W dx A9k

el T e T W foew A, s aA | g

(e el 1 &) = ydx, Ty =£(x) €I x=b
Tg &kl YR &he shedddl € Sl X<gIp i Q X

fr 8 & fi forell wes feafa w wenfm Y SR 8.1

B qdA bk HeA x ok forel oM 9 fafafds 21 9% y=f (), FfeA x=a,x=b
T x-318 § B} & o A & 9%a A I, &9 PQRSPH U+ qael qfedi o &=hal
o ANTHS o TR o &Y § <@ Hehd &1 Hiohideh

qI W W W TH YN AfYeTE i X y=d

A= [laa=]"yax=]"f(x)dx \
X

Wx=g@),y—$&1®i’@ﬁy=c,y=d@ﬁiaﬂ dy \
1 e frefafed 9 57 o fen S @) Zx=g(y)

A= jdxdy=jdg(y)dy y=c
c c X’(O >X
Tl ' afas ufeedl W foeR wxd € S fw . aTTepfa 8.2

rpfd 8.2 W @Al T4 B v

fewuit afg =afda a% w1 feafq x-21e1 o = 2, @ <@ fo emepfa 8.3 ® v
W%,G%‘?x=a@ x=bdd

£ () <0 wafau fu 5w =, X
x-378 T Hlfed x=a, x=b |

o &1 1 &S FTOMHS @ /
W%,WFW&?W X~ 5 X
g g R e - Ax=b
| THfeTe A aprhe e ~ ®

% o e 3 Frde T, s v

Uabf(x) d| 1 T €1 v 3T 8.3
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YHAI: T 81 Gohdl € foh ah 1 9 9N x-3981 & SR 8 901 FS AN x-378] b
= 7, St fR emeRfa 8.4 H <wiien M €1 Wl A, <0 T A, >0, THAT T

y=f(x), x-3& T HIfA x=a TN x=b ¥ fok & 1 & AT A= |A |+A,
R 9T e S 21

Y
4
A,
x=b
X 0 >X
xX=a
\ A,
Y/

3R A 8.4
AR 1 I X2 + y2= @1 &9k FG Hifu)

T ehfd 8.5 H U gU 9 § fol gu & 1 el &
=4 (ST g =k, x-31& TG HIfeA x=0TqMx=a ¥ R & AOBA T &%)

[Fifh o9 x-31&] TH y-278 Sl ok v
oRd: wmfa 2] B|(0, 0)
=4j:ydx (Seafer feeal o BY)
¥
=4[ Na>-x* dx, » L \a@o,
(0]
FfR 2+ = > ¥ y=tVa’ —x° yra ghar 2 dx
@ o &5 AOBA oM =iqerfyn o wfinferd €
TEfeAT y i oFTcHeR @ STl @1 WHTehe i
R fiu gu 99 ¥ o aawa f=fated &9 ° Y’
T BT ©: 3T 8.5

2 a 2
= 4{%\/a2—x2+%sin‘lﬁ} - 4|:(§x0+%sinl 1)—0}
0

A2
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Tereheua: S@1 6 erepfa 8.6 § <wfan wn € Y
&t ufegal w1 == v g 9 g fR & B|(0, a)
FA AR

=4[ xdy =4[ o=y dy  (F) dy
= 4{2«/0 -y +a—22s1n 12} X< o
0

, 0
Ala )>X

a

2
= 4| %x0+ Lsin'1|-0
2 2

2 v

a T ) Y’
=4——="Ta
22 3TTeRTd 8.6
2 2
SETETOT 2 A x—2+Z—2=1@ﬁi&ﬁaﬂ
a
BAHA T A hITST

o1 3Mhfa 8.7 H <efgm @ R & ABA’B’A &1 &%
. [ﬁqgvzaaﬁ x — 3787, BT x=0,x = a R TIH TGIT T
~ R &31 AOBA 7 stsreT
(iR e x-2781 We y-31&l <Al % URd: Huitd @)

= 4T ydx (3eafR %’faﬁﬁ?}@)

2

wx—+—:1@ y—+—\/a —x* I gl €, W &9 AOBA werm =qefer § 2
Wymmw% wﬁqaﬁwaﬁw

_4J. — a — X dx B|(0, b)

% =N e N
a ’ = X
2
ﬁK—><0+—s1n IJ 0}
2 2

a B (Oa_b)
ﬁa_ E—71:atb 2l Y
a2 2 TR 8.7
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Torereua: S fom emrenfa 8.8 o gwitan e @ aifast ufeeal 1 == s gy el
EARER TS|

= 4I;xdy = 4%j;\/b2—y2dy (1)

Y

0, b)

4
B
_ﬂ—Z bz_ 2+zsinilzb Am; A
- y 2 b 0 - ! X
B
N

L (-a, 0) (@, 0)
4a [ b bz .
= (5x0+75m l1)—0] "1(0,—-b)
2 v
s TR 8.8

8.2.1 UF Tk UF Uk I@T @ RR &F &1 &T%cT (The area of the region bounded
by a curve and a line)

TH SRS |, B9 Teh 1@ SR Tk g, Th 1@ 3R Ush Weed, G0 T 3@l 3k T
el @ FoR &3 1 S%e T T SIS dfdd okl oh THISIU Shael YTHIf0TR &9
H & s1eae fory S Rifeh 3171 Tl aret FHIHu 1 ST 30 TSATRIS o A
&7 9 a2

SETEIUT 3 T y=x2WE WM y=4 ¥ R & &1 &9%d 74 wifaq)
ol itk ST U THHT y = x2 5 & o y-311 o uRa: 9ufid T Waed
21 THIY SR 8.9 W &% AOBA &1 A= &5thel FeAfeiiad &9 § e grel 8:

4 -
2J.0xdy= 2 (feu gU ok, y - W

@eh y=07qa y=49 iR - }[\7
&5 BOND 1 &=hel) W N [ y-4
A B
=2f "yay @) P —
3 4 7&. N
=2><% yE =£X8=2 X< 0] >X
317 ) 33
Tel T aifast ufeeal ot ® S fon emepfa 8.9 Y

<9I T B 3T 8.9
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fawcua: & AOBA &1 &F%hal W< & X=y
o foru &m0 PQ Sil eafer ufeeai o Tehd Q

& S for arrepfa 8.10 o <wifan N €1 Weh A N B
foTu 0 Tl 2= yUd y =4 &l & &
%ﬁ'ﬂ'@x:—2@x=2wmél x==2 +/-dx

TH WhR & AOBA S othl y=x%, y=4Td  yo Yy
Fifeeii x= 27 x= 2% FoRT A WA 9

R <1 TR B Y’

zafeit & AOBA &1 &i%d TR 8.10
= fiydx[yﬂﬁSQW y Feems — fag P &1 y fdems) =4 — &7

= 2f (4-27)ax (i)

3 2
=2|:4x—x—:| =2[4x2_§]:2
3, 3173

feroguit IWied 3STE0N | I8 fehy foheran @ ff forelt & 1 &t 90 % o forg
TH SealeR 3fere Aifast ufeedl § U forelt 1 off o Tehd 1 39 ST B9 o <Al afeeal
¥ fordt T &1 ==t 8, SR gfeedl ol g it wefiehar & S

SETEC0T 4 JIH IqA § g9 2 + 2 =32, @l
y=x,113fx—3‘l%11~llﬁﬁ éaaﬂ«%maﬁaﬂm|
B

T feu g wHie € B/

y=x .. (1)
A 2+y=3 (2 X
GO (1) 920 (2) ol A T W EH I
& for foom gem 99 o & g€ W1 Tk T I gem
<qeiist W B(4, 4) R firerd € (STehfa 8.11) 1 x-3781
% SR BM @ Gifau|

THfT, 31efiee &orhel = &5 OBMO 1 &5%al
+ &9 BMAB &1 &9%a

Y
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319, & OBMO &1 &9hd
- j:ydx=j:xdx=1[x2]2 =3 - (3)
TA: &3 BMAB &1 &9%a

= I:ﬁydx= I:ﬁ 32— x*dx

1 1 x T
= —xv32—x? + =x 32 xsin™"
{2 2 4f}

2,

( 4ﬁx0+ X 32 X sin” 1)— 4 B 16+ L 32 xsin
2 2 2

=8n-8+4m)=4n -8 e (4
R (3) TS (4) 1 ATHA JA FE W T A &% A=4n I 2 |

2

Wsﬁ*&iqaa—+——lqaﬁﬁﬁ x=03R x=aqe, @ R &7 &1 &kt
HIT, Tl 2= (1-e) T e< 121

%ol & BOB’RFSB &1 21+ &%l fSU gU areiga Ta W@ietl x = 090 x = ae © 50
B3 B (MHid 8.12)1

w9 GfST fF &% BOB’RFSB &1 &5Fd 4

ae ae B =
2 e = 22 [ - K W i
a 0
ae F (ae, 0)
2 X >X

2b ﬁ\laz—x2 +2 sin' 2 O

al?2 2 al,

R

2b - !
?[ae\/az—azez +a’sin 1€:| B

a

ab[e’\ll—e2 +sin’1e} 3“'@7&' 8.12
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| ware®t 8.1 |
Tk y? = x, WA x=1, x=4Td x-34 ¥ T & &1 YoM UK H &ha A hiferd]

2. YW FqAN H G 2 =x, x =2, x=4 TG x-378 ¥ R & *1 &A% T FHife)

9.

10.
11.

TUH TqU Hal=4y,y=2,y=4Td y-374 ¥ TR &3 F1 &45%ha @ it
2 2
W%Jr%:l@ﬁi&ﬁaﬂ £ A HIT

ﬁ%ﬁé+%=l@ﬁiéﬂmmaﬁaﬁm|

JoH TqUE H gaad+y? =4, 3@ x=./3 y @ x-3784 g7 TR &3 1 &% 7
FHifs)

BRG] x=%gm3?r P+ =k B AN HT &I A HifUl

I TR =2 T3 W x =49 o0 g3 &%Fa Wlx=a g & I 971 H
fawifia era1 @ @ o 1 9 6 ity

qEd y = x? 11'_=fy=|x| 9 R &3 1 &9%d T Hifel

TH =4y TE W@ x=4y-2 " R &3 FT &F%ha G Hife
Wy2=4x®%@x=3@ﬁi & T &THA 1 I

YT 12 TE 13 H TEl 3T Al 997 hio0:

12.

13.

Hor =g § g9 2+ y?=4Td W x=0,x =29 fR &7 % uwa 2

A B . CE DE
(A) ®) © (D) 5
El'sﬁy2=4x,y—31&1113fi'@y=3@ﬁi@3[?ﬂ$m%:

A) 2 B kd Cg Dg
(A) ®) - © - ®)

8.3 I Ishi o Hedadl ?3':[ <hl 83':!"3{)—@[ (Area Between Two Curves)

AT T HA TS A FT T o hoawy el & 1 YR &kt 1 geq
e o ufeedl weeR SR 3 YR &hell 1 ARTHS 1A HY, &Ehd o U
1 f5he THRe el €1 Hheddl HifeT, B8 §1 @k y = £(x) 3R y = g (v) RT g
T 5T [a, b]H f(x) 2 g(x) S T @Mmepfa 8.13 & <wiian 7= €1 fEu g¢ =ehi o Fetenaom
Tyl SIS A od B S Sl 9o o Widesee fag x = a 99 x= b g 2 &
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HHTReH o Y3 1 T F o [0 IRMTH &% i HeamRr dfcedl o ®9
o o gfaurse #1 S R emepfa 8.13 # <wilen mn ?1 Ry qedt a1 S
(@) - g(x) T AT dx T, THAT IR &wa
Y y=E
dx | _y=f(x)-g

X =a y=g®

Y’ 3TTeRTd 8.13

dA = [f(x) — g(x)] dx, TN FA STFA A = I:[f(x)—g(x)]dx
Taereua:
A=[TF y=f(x), x-3T8 U WA x =g, x=b ¥ TR &F &1 %A
—[@% y=g (x), x-AL @i’@k’vﬁ x=a,x=b@ R &3 = W]

= [Trde=[ gdr =] [ 1)~ g(0)]dy ST [0, 1 (02 ¢ ()

I [a, c]H fx) =g (x) T4 [c, ] H f(x) < g (x) &l a<c<bAa fm
TTepfd .14 ® <itan 7w 2, A ool @ R &5 a1 et Frefefaa weR feran sn
W%:

gThel = & ACBDA &1 &5%d + &3 BPRQB &1 &%

- [ Tr@=g]de+] 500~ f (w)]dx

>
7N

ryr=g®
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JETEIUT 6 J AT y =2 W6 2 =x ¥ FoR & N 2

1 &SIhel A i) x=y
T S| fop eMepfa 8.15 o <wien 0§, 5 &M
e & WideseE g 0/(0,0) W A (L, )71 X< S >X

Tl y2=x S y =[x =f(0) 3 y = =g (v),

St [0, 1] 5 f(x) > g (x) T

OfTT. BEIfeRd &3 1 e &% A
— J.(:[f(x)—g(x)]dx 3']'@'7&[8.15
! 22 2] 21 1
= J.O[\/;—Xzildx =|:§x —?L = E—g = 5

SEEIUT 7 x-AG F HW qA FA 12+ y* = 8x T8 AT 2 = 4x o TSl & &l
SIS A HITC

T g9 1 A N THHE a2+ 12 =8x, (x—4)’+)>= 16 &I ¥ Afegem fwmean
ST Hehdl 81 T I 1 % f5 (4, 0) 7 q01 B0 4 T B WS y2 = 4x S WY
WW@IWW%:

X2+ 4x = 8x
31 XX —4x=0 Y 9
g x(x-4)=0 s
YAl x=0,x=4

39 YHR 31 I Tt o gfae=ss 1895 0(0, 0)
T x-318 § SW P(4,4) B

3T 8.16 W x-378 | SW F Il dehl o HLA X<9 C 4,0) O@ax
qftafad & OPQCO &1 &A%d 4
= (8 OCPO &1 &%) + (8 PCQP I &theT)

= J.:ydx+j:ydx v

= 2‘[:\/;dx+‘|‘:\/42—(x—4)2dx (F1?) 3Rt 8.16
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of 2T 4 .
2><§|:x2:| +j 42 2 dy, ST&T x—4=t¢
0 0

4

% + [%«/42 —t* + %x 4% x sin™! i]

0

4
=¥+Fx0+lx42><sin‘l}:2+ 048x T |=224n = 2
3 2 2 3 2 3 3

(8+3m)
IETET0T 8 3T 8.17 § AOBA Word =qeifer # <isigd 9x2 + y? = 36 1 Th 91T &
@ OA =2 T 91 OB = 6 3T €1 o =19 AB TS Sfial AB o Heedl &
BERIC IR GRS I

Y
ol g &1 feam g wHieRIot 9x2 + )2 = 36, Uiq B(0, 6)
2 2 2 2
Tl st g L4l o139 = § st e
4 36 22 6°
TN ¢ SR THICT SHHT SFR PR 8.17 7 Y TYL AHFR A2, 0)
S 21 X o X
THh YN, ST AB &1 GHIH 2
6-0
y—-0= 0_2(x—2)
L2
3regell y=-3x=-2) 3TeRf 8.17
Y y=-3x+6
3Tepfa 8.17 W 3W BHfRA & &1 &5%hd
= 3jj\/4—x2dx—jj(6—3x)dx (F?)
I o R N P
= 3[5 4—x +2sm :lo |:6 > :|0

3[%><0+25in1(1)]—[12—%] =3><2x%—6 =3n-6
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SETET0T 9 A T YA #3d ¢ Uk TH X
s 1 &Fha T wifee fSEeR 3 (1, 0),
(2,2) T (3, 1) &

el AE e A (1,0), B(2,2)TE C (3, 1) fyqs
ABC % ¥ & (3Tpfd 8.18)
A ABC W1 5% = A ABD %1 &1l + Fieid X< —4—(4op = X
=4S BDEC &1 &5%al — A AEC &1 &9%d )
518 ST AB, BC U6 CA % THishiul we: Y ST 8.18

.C (3, 1)

1 .
y=2@-1.y=4-xy=—( (x— 1)@
3d: A ABC &1 &%

- [P20-des [Ja-na-[ 2la

ol -] -5
[EHE o]
-;K%“j G‘lﬂ -5

SEAEIOT 10 A [ 2 +)? =4 T (x—2)° +)* =4 F T & 1 &Aha T TS

&l &Q@W@W%
X2+yr =4 . (D)
AR (x=27+y>= 4 o)
ety (1)@@%@%%@%@0?%@1%%@12%@%
T (2) TH T 99 ¢ foeRt ohw C(2, 0) 7 3R fo@eht 5 2 5ot 21
TR0 (1) 3R (2) i T HEH R g9 T4 &
(x2) +y'= X2+

Il
\®)

SRE X —dx+4+y?= X2 +y?
e x=17&d y= +/3 y=ea el
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a1a: fu u 91 % wheee fag AL, 3 ) 3R
A(1, —+/3) T, S| 2epfa 8.19 | switan T @)

Il o AeFed & O ACA’O &1 a1vfie

R =2 [& ODCAO 1 &F%e] (FA?) XA

A(1,V3)

=2 [& ODAO &1 &% + &5 DCAD &1
PEag]|

= 2_I;ydx+.[12ydx}

_2 —J‘Olw/4—(x—2)2dx+ 112\/4—x2dx:| ()

— 1
=2 %(x—z)m_(x—z)2 +%x4sinl(%2ﬂ +
L 0

- 2
2 1 x\4—x? +%x4sin_lg}

2 1

2

:(—\B —4xgj+4xﬂ+[4xg—ﬁ—4xﬂ

(—\/5—2—;+2n)+(2n—\f—2—;)

2019-20
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— | (x=2)J4—(x=2)* +4sin” [x_—2ﬂ +[x\/4—x2 +4sin™" ﬂ
L 0
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Yl
TR A 8.19

A'(1,-V3)

1
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| woaett 8.2 |
TR 12 = 4y 3R TG 4x® + 4y = 9 o TEASd! &5 I &k A i)
TR (x — 1) +y*=1Ta 2+)y*=19 R & &1 &%a AG Hifeu)
aﬁyzx2+2, y=x,x=0113fx=3@ﬁﬁ & hT &THA AT HITSTT)
GRS H1 ST H gL T W 39S 1 &9%a 9 *ifeie fSweh o
(-1,0),(1,3)Td (3,2) &

5. THREA 1 ITAN F gL TH UH PR &7 w1 &we T it foweRt
qeTetl o HHETT y = 2x + 1, y=3x+1113fx=4§|

B W N -

e 6 T 7 H WEl S H T RIS
6. Qﬂx2+y2=4®i@x+y=2@ﬁi?)ﬁéﬂmaﬂﬁm%:

(A) 2(m-2) B) -2 ) 2t -1 (D) 2(m+2)
7. aﬁﬁ:%mj:h%qmﬁ%aﬂw%z

2 1 1
A) 3 ®) 3 © ®) 3

fafaer sergvor

SEETOT 11 WA 2 = 4ax 3R 3Heh ocia 9 R &5 &1 &% A i)
Tl 3Tpld 8.20 W, WA )2 = 4ax &1 MY Ta1 fag ® B Tfgciar sfar LSL’ =

G x = ¢ B T g3 Weerd x-3181 o ufia: Y .
Twfad 2 |
&9 OLL'O &1 31efie &F%al = 2 (81 OLSO
T &AH)
a a , ’0
= 2_[0 ydx = 2_[0 Ndax dx X<—5 (Sa ) X
= 2><2\/;J-:\/;dx
\
374 é V, Ll
= avaxZ|| = 8Jalar| =2 Y
3, 3 3 TR 8.20
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SETETOT 12 @M y = 3x + 2, x-3A% W wifear Y
x=-1Tdx=1d R &F 1 &TFdA A SHifeT)

o1 wE fop emepfa 8.21 § <@l W ¥, Y@
y=3x+2,x—31&1‘°|ﬁx=_—2‘1'{fqﬁ1'cﬁ%3ﬁ'{

3
Xl
2
XE(‘L Jé?f?mw&ﬂé@x-aaéhﬁé% *
-2
qen xe(j,l)a% fau zqeT e k-39 9
Yl
I EI T 8.21
e THA = & ACBA &1 &% + &5 ADEA &1 & 9%d
2 |
= |[ 3 Gx+2ax+ [ Bx+2)dx
3
=2 |
3x2 3| | 3x? 1 25 13
=||—*+2x| [+|—+2x| =—-F+—=—
2 b, 2 2 6 6 3
3
. Y
JEEIOT 13 x=0Td x =21 A IF
y=cosx ¥ FoR &3 &1 &F%a A Hifel A E
ol SARfd 8.22 W, 31 &Fhe ” \B D i
= &% OABO &1 &5%d + &% BCDB &1 O % T 371: F
%A + &5 DEFD &1 &9%hd
C
SRR G Y 3TTeRTd 8.22
n 3n
= jzcosxdx+ J 2cosxdx +J2ncosxdx
0 n 3n
2 2
L3 3n ,
= [sinx]2+ [sinx]2 + [sinx] =1+2+1=4
0 T 3n
2 2
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SETET0T 14 fag HIGT o T )2 = 4x TF 12 = 4y, @t Y :
x=0,x=4,y=4Ty=0" R a7 & &% &l dH R y'=dx
R F e QG

& oA A R e ) = 4x T a7 = 4y Wi
5 (0,0)TH (4,4) % S fon arepfa 8.23 & qwfan a1 1 X<
o TH = 4x T =4y H RO OAQBO FI

% Y 3TTeRTd 8.23
2 3 37
= I4 Wx -2 |ax = 2><zx2—x—
0 4 3712
_2_16_16 |
=337 . (1)
T TRl 2 =4y, x =0, x =4 W@ x-318 ¥ R &3 OPQAQ Tl &hal
Cr4x’  lpog 16
= onx_E[x ]0_? e (2)

T YRR a6 y2=4x, -3, y= 0T y =49 R &7 OBQRO I &AFA

4 B 4y2 1 4 16
=f0xdy—fojdy—a[y3]o—? -3
TR (1), (2) @ (3) ¥ g8 f=nd fashomn 2 &%

&3 OAQBO &1 &3Fd = & OPQAO &1 &F%hd = &3 OBQRO &1 &FTHd
I, AT ) = dx T 0= dy T FoRT &5Fe U g0 ot & £t Y i SRR S
o faifera e 2|

SETETOT 15 & {(x,y):0<y<2+1,0<y<x+1,0<x< 2} &A% A SHifoUl

Tl ST HOYYH B9 IH &% 1 Wi daR i fSTEeh1 ed &5he 1 & 81 T8
& fefafaa e o1 gegedt & 2

A ={(xy):0<y<x+1}

A ={(x,y):0<y<x+1}
3R A, ={(x,y):0<x<2)
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Tl y=x2+ 1 T y=x+ 1 o Hiaesg fog P(0, 1) T Q(1, 2) ¥ ehfd 8.24 W,
vfie &9, BMIfhd &5 OPQRSTO & fS&eht &srhel

= &% OTQPO &1 &F%d + &% TSRQT &1 &FFa
- J-;(x2+1) dx+jlz(x+1) dx (1)

(550
(ol feo{3] -

e 8 WY fafaer goraeit

1. fSU gu ookl W@ (@stl ¥ R &3 &1 & 9ha T Hiteg:
() y=atx=1,x=2Td x-31%
@) y=xx=1,x=5Tdx-3&
2. Thly=xTd y=x>%F TS & H] &ARA G BT
TIH ﬂﬂﬂfﬂﬁq&qﬁﬁ@y=4xz,x=0,yzlﬁm y=4@ﬁ|’3§ & T GIAFA
0 it

y= |x+3| 1 WE Gifau T J-_O6|x+3|dx 1 HF A hiTeT)

x=0Tdx =207 T y =sinx ¥ R & F7 &=hal 0 Hifo
AT y* = 4ax TH W@ y = mx ¥ R & &1 &% T4 Hifaq)
TEEA 4y = 3x2TE @M 2y = 3x + 129 TR &F 1 &9hal 91 Hife)

2 2

8. aﬂ‘aiqa%erT:lqsf%@ §+%=1@ﬁia§&haﬂamamaﬂml

2 2

9, ﬁﬁ%%+%=lmwg+%=1@ﬁiwmw%maﬁﬁm|

10. I P2 =y, W@ y=x+2Td x-AF ¥ o) &F F1 &% Fq Hifo

11. Foehe fafy %1 ST % 8T o |4+ y|= 19 fot & =1 aswa 9 Sifs
[Hehd : STavas &5, @i x+y=1lLxy=1,-x+y=1T-x—-y=1
a for 2]

12. W{(x,y):nyzﬁﬂTy=|x|}@ﬁﬁ333[aﬂWaﬁa—ﬂﬁml

13. @aeRer faft 1S9 3d gC Uk TH IS ABC, %1 &iSTthel 31 shiferg foreh
et o fadsn A2, 0), B (4, 5) T C (6, 3) €l

w9

NN A
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14. Goehed fafy &1 ST 3 8T, Wstl 2x+y=4,3x—2y=6TWx-3y+5=0
9 R &9 &1 &9%d A i)

15. & {(x,y) : y* < 4x, 4x2 + 4y2 < )T &THA A HIfaQ|

16 ¥ 20 T U H W&l IW 1 997 Hifo(T:

16. Wy:x{x—ﬂ%@ﬁﬁx:—lx:l@ﬁ%?ﬁ[aﬂW%:

— 15 17

(A) -9 B -~ © = D
17. dby=xlxl, x-3& Td Hifedi x=—1qMx=19 R &F =1 ST 7

1 2 4

(A) O (B) 3 ©) 3 (D) 3

[[ehd: y =R x>0Td y=— 23 x<0]
18. &% 22> 6x 3R I7 x2 + 2 = 16 ° WiHferq &5 o1 &wd 2:

A) §<4n—ﬁ) B) %(4n+\/§) ©) §<8n—ﬁ) (D) §<8n+J§)

19. y-3181, y=cos x Td y = sin x, Ostg g iR &5 @1 e @
A) 2(2-1) B 21 © J2+1 D) 2
RISt
¢ ThHy=f(x), x-AT & WA x=a TN x=b (b>a) ¥ R & & &THA H
g e = [ ydve= | f(dr 71
¢ Thx=0(y),y-318 T WA y=c,y=d ¥ R & & &A% & A
gt = [ “xdy = [ ‘0 (r)dy 71

¢ T TRl y=f(x),y=g(x)11¢_=fi'@'|"\i'x=a,x=bav‘ T iR & &1 &F%d
frfafad 37 g7 33 72

833'CW'=If[f(x)—g(x)]dx SR [a, b] ® f(x) 2 g (%)

¢ IMlacl B fFO)2g@) T [c,b] B f()< g(x),a<c<b, A TH &A%
F fAfafed R 9 foed ©

CERII f:[f (x)—g(x)]dx+jf [e(x)— f(x)]dx
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g gEYgTY

AR T T YR T o YRMeh faeshre el @ & g €1 98 WA e
Tforst g faesfoa fsivar fafu @ enenfa 21 @ fafu @1 gR9 wocet=
Trepfaal o Bhel SN 319 SEqetl o ST i MUl W g3 39 X o s
fafer, TR fafy =t yRfves feufq o &9 o w@eh s Hedl 1 Fe9mar fafy
F1 Galche fasm gRfas *1a § e (Eudoxus (440 3. 7) 3R enfhfads
(Archimedes (300 §. 9.) & i & 9« g31 B

e o THEId 1 s 9eh1d 91 o 9¥ar 1791 Saeal ¥ g3fll ¥ 1665
ﬁ:‘:@ﬁw TR 3T 1 Yo fagia (Theoryofﬂuxion)av‘h_qﬁmf‘q e
3= 38 fagia &1 ¥ 9% & fodl fog ® waeff iR awa-fean 3 w6 o
a1 =21 7 JoRH e 1 UROT W UREE A 3R 3Eh] WfdeTashers
(A= R eH) =1 ¥ &t Fohd fafd (Inverse Method of tangents) 3T
BlEETURERIl

1684-86, o el & oieti (Leibnitz) 9 Th 9951 Tehel SUTSAREH (Acta
Eruditorum) & FerTf fema iR 38 hefaferd THRIRGE (Calculous Summatorius)
1 fezn, =ifer 7% oHd B aFwell o AMHd ¥ Hafyd of, 98 W 3= 39
IANThel o Tdeh < g = fRAT 9 1696 €. H $=IH S e (J.Bernoulli)
o YA I AMRL A9 YO hl Eﬁm geamelt (Calculus Integrali) 9 #
gftafdd & fean 978 =g g Tkl st gepd fafy & §1a ol

A R wafst T A quid: TS 7R ST S e fae o qenfa <7 <
o fagrdl o G gfahel qoad WIT Q) watTst 3 e SHehe i SR
A foRam
e Tifyed € fr S € wevyw gfaeesmas iR fHiyea ademed & o= &
HaY i TrEadl FEll

ferd 71g @ o WuTeher IO ok SR eTROnSH, Fasidl 9o steeher T
T 3ok YRF el 1 foehra dLEl &, e, iR dafasr o wEf grr 174t
I o oid W el qefd @Rt Sfifecd, WE Y Hehoud 1 & SR W 194t
IMAEAT oh URY § USRI (A.L.Cauchy) o g1 fohan w=m| ofd o <t |t
(Lie Sophie) =1 ffeifad S0 9of=4 21 "It may be said that the conceptions
of differential quotient and integral which in their origin certainly go back to
Archimedes were introduced in Science by the investigations of Kepler, Descartes,

Cavalieri, Fermat and Wallis... The discovery that differentiation and integration
are inverse operations belongs to Newton and Leibnitz".
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